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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions No. 1 and § are compulsory and out of the remaining, any THREE are to be
attempted choosing at least ONE question from each section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of thic Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.
Assume suitable data, if considered necessary, and indicate the same clearly.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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1.(a)

1.(b)

1.(c)

1.d)

1.(e)

2.(a)

@IS ‘A’  SECTION ‘A’
fepaferfaa weAt # A WS H IR T 150 Yeal 7 QT
Answer the following in about 150 words each :

e e T e sro Fafml som @9 & QR @l odt 8 | 98 9mg 99 F R
AfmueR i g ?

Explain why the companies buy back their own shares. How is it different from

issue of bonus shares ? 10
TR H AT o g aHerst 6l Fdl g g wwa fyaior qun
‘HT9=’ | 991 A9 GeHd ©§ ? A9 W o qaERl B e TR e w1 ?

“Recognition of revenue presents two basic problems, namely timing and
measurement”. Do you agree ? How would you solve these two basic problems ?

10
Iy foRe @ & 9 arelt Ut wem " @ arfie qe fee ver faifka w8 S
froar af & g2 a9g @l @ e 2

What do you understand by the term Annual Value of house property 7 How would
you determine the annual value of let out house property which remained vacant
for part of previous year ? 10
%mﬁ%mmaﬁ’rﬁqf&: ‘FW G AR ‘gl aFE & TR geR fire
I

Explain with suitable examples how ‘Shut-down Cost’ is different from ‘Sunk Cost’.
10
W e v faget w1 we fife, w0 e am S derean w)a a5

AAIIEE H &H | @A A1 |
Explain five major points that an auditor shall keep in mind while conducting audit
of a Charitable Trust. 10
g fafiies ik 7qm forfiee o wwmiem 1 389, 2019 ® 3R S aki@ & wwEt fom
T | BT A % SRIER S G9e & e ‘S g fafies’ & am 8 s a3
Sl F9E S | 31 WM, 2019 §F AT & smER, @ fafies ok @ fafes &

(T @@ #A)
forazowr wa fafies  wm fafies
(A) T :

(i) R I
el (3100 wAH) 2,000 1,600
15% aftm SR (WA T100 &) 800 600
(i) e ARfEa 200 160
(iii) @@= IRfaa 400 300
(iv) rfyew @ran 160 120
(v) 12% FOT-99 (W T100 &) 192 160
(vi) =T sifiea 408 190
4,160 3,130
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(i) e wiEafaa 2,400 2,000
(ii) = aiEafwi, wor qar sfim 1,760 1,130
4,160 3,130

Affes gaaTy

(1) & fafies ok 77 fafiee & aftmrt Jorenfat & = wlt & F100 wfd &
15% ARMFAT R s_eR-aK=R a6 ¥ ww forg € |
(2) 7 @ 7 ua fafieg ok g ffiee ¥ 12% RS & = st & g

& W 16% RO —‘ﬁ, 100 wfa S0 @ Toear wn aifes 9= sat €
= $ @9 freadt @ |

(3) =tF A fifie ¥ at fifine & v SR G % R 15 SfEd S qur
ffiRe ¥ v SR AW F R0 T SRS SR W T | s B
H YAS IR 100 3ifha 7= F R |

s fed & e 6 Ty @ v ok aumed feu S % g=E 01 i
2019 &I =% Bl forfies o1 gor-uo TR AT © |

Sun Ltd and Moon Ltd were amalgamated on and from April 01, 2019. A new
company called Black-Hole Ltd was formed to take over the business of the above
two companies. The balance sheets of Sun Ltd and Moon Ltd as on March 31, 2019
are given below : :

(¥ in lakhs)
Particulars Sun Ltd Moon Ltd
(A) Liabilities -
(1) Share Capital :
Equity shares of ¥100 each 2,000 1,600
15% preference shares of 100 each 00 600
(11) Revaluation Reserve 200 160
(1i1)) General Reserve 400 300
(iv) Surplus Account 160 120
(v) 12% Debentures of 100 each 192 160
(vi) Current Liabilities 408 190
4,160 3,130
(B) Assets :
(1) Fixed Assets 2,400 2,000
(i1) Current Assets, Loans and Advances 1,760 1,130
4,160 3,130
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Additional Information :

(1) Preference shareholders of Sun Ltd and Moon Ltd have received the same
number of 15% preference shares of 100 each in the new company.

(2) 12% Debentures of Sun Ltd and Moon Ltd are discharged by the new company

by issuing adequate number of 16% Debentures of ¥ 100 each to ensure that
they continue to receive the same amount of interest.

(3) Black-Hole Ltd has issued 1-5 Equity shares for each Equity share of Sun Ltd
and 1 Equity share for each Equity share of Moon Ltd. The face value of shares
issued by Black-Hole Ltd is ¥100 each.

You are required to prepare the balance sheet of Black-Hole Ltd as on April 01, 2019
after the amalgamation has been carried out using the “Pooling of Interest Method”.

20
2.(0) o fafmin sufar s vaem =R Featifea €, oo em o fofla =t @
frazor HAT T FAT ATE
qEAT U 90% - 60%
fasft (3 m@ #@) 540 300
gfEd] «rE (3 9@ H) 396 225
fra wva (3 @@ #®) 80 50

7% W 5 for wkama Fmifa R sman @, ke Fif

(i) Trofim wa=t 6t Ggem-w fooft ofik S8 &R W ewar & I |

(i) 80% &war SwAM R faafa o= fit srwetar |

(i) T 75 @@ & gAEN Afia wRa & foe fefa wem &l

(iv) v faeifa @@ T 75 @ & FATE A AT A H HHAT W yE=Iford ®, a9
Fraa sufemm # 5% 6t 9fy B a9e wem & forg okt g 7 foraet wisraan

gfg it smavawar grlt ¢
Two manufacturing companies which have the following operating details, decide to
merge :
Particulars Company X Company Y

Capacity Utilization 90% 60%

Sales (¥ in lakh) 540 300

Variable Cost (¥ in lakh) 396 225

Fixed Cost (¥ in lakh) 80 50

Assuming that the proposal is implemented, calculate :

(i) Break-even sales of the merged plants and capacity utilization at that stage.
(ii) Profit of the merged plant at 80% capacity utilization.
(iii) Sales of the merged plant to earn a profit of ¥ 75 lakh.

(iv) When the merged plant is working at a capacity to earn a profit of ¥ 75 lakh,
what percentage increase in selling price is required to sustain an increase of
5% in fixed overhead. 15
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2.(c) ==t S fF sgex vaeEl & fou faifa 6t smara fefa e yer faifa

ST 2 |
Discuss how the residential status of an assessee is determined for income tax
purposes ? 15

3(a) e v qitEen # ekl wHEd € ok gadh wifvar feafafaa € -

(i) ¥ — 30,000 ¥ wfqATE

(i) WEMTE S (S IS A Gaet @i A onfie Ban 8) - 999 H 60%

(iii) rftmfa Yvm Ao | s - 3,000 ¥ wioATR

(iv) UyF AreFr | Tk 1 3veE — 3,000 ¥ wfawTg

(v) 9% T & FEfeEa 96 am WM w1 9iEed w1 - 2,800 % wiaate

(vi) sl s (@ wéR & fow) - 3,000 7 wiwTe

(vii) TR W= — 2,000 ¥ wfowme
(a¢ w3 g anfea & afafEt w 12,000 ¥ =@ o)

(vii) 3¢ Fryges fram 6 afaer < 7€ R | ow Fam & aegs G 2,000 ¥
m%ﬁﬁélwﬁeﬁ@miwmmmﬁsﬁ
gyan g foan @ fomem smfefea =2 75,000 7 ® |

(ix) 3¢ 01.10.2018 & T HteR iR RhigR A glaem 4 18 @ T wds @
I 3,000 T wirTe TWER GRI WWAE T S @R
(x)ﬁso,wﬁ%fqmqmﬁmmméﬁ&ﬁwﬁwﬁvﬁwm%

TR | -

(xi) 01.10.2018 & Ie o+ Tk & & &/@ T & F ARFR Ged & oIy
6-25% i famdt = e R forn | =@ o & 9t @ % 10,000 wfowTs
01.01.2019 & WRH & | 01.04.2018 H WRAA € & Hl =T & 9-25% 4t |

(xii) TR ¥ fieex B s=d Feafafea 2 -

(a) e s sifes
@ & ferw 10,500 3 (S Afsr < @@ ?)
gt & forw 12,000 3 (Sfmr Tfyr w @@ ?)
a7 & forw 8,000 3 (Sf\r T wF @@ F)
9%k 9 & g 8,000 ¥ (S 7% FR @ &l 2
W 9¢ ARl @ dfsd ®), (S R w=E e T)

ot <ffwr wrferfat 2014-15 & 9§ | < w4t )
(b) ufecrs widise % & w1 fFU — 5,000 %
(c) T A S Fo | 9g @ § Iqen I B — 6,000 T
(d) e < fem & weEm o forg T or B Ao (9 W, - 36,000 %
‘Tﬁ?h"t?;féﬁﬁﬂl:
(i) 999 A=
(i) ¥RT 80 C o ded wherdl & forg e Tfa |
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Mr. X is a Government employee at Ludhiana and is getting following emoluments :
(1) Salary — ¥ 30,000 per month
(ii) Dearness Allowance (enters) — 60% of salary
(iii) Contribution in Notified Pension Scheme — ¥ 3,000 per month
(iv)- Employer’s contribution to Pension Scheme — ¥ 3,000 per month
(v) Transport Allowance for commuting between home and office — ¥ 2,800 p.m.
(vi) Deputation Allowance (for 2 months) — ¥ 3,000 per month

(vii) Entertainment Allowance — ¥ 2,000 per month
(During the year, he spent ¥ 12,000 on entertainment of official guests)

(viii) He has been provided with a rent-free accommodation. The licence fee for the
accommodation has been fixed at ¥ 2,000 per month. The government has
also provided him with furniture items costing ¥ 1,00,000 (WDV — ¥ 75,000)

for his personal use.

(ix) He has been provided with the facility of a servant and watchman w.e.f.
01.10.2018 and the government is paying ¥ 3,000 per month to each of these
servants.

(x) A laptop costing ¥ 50,000 has been given to him for his official as well as
personal purposes.

(xi) On 01.10.2018 he took a loan of ¥ 2,00,000 from his employer to buy a car
at a concessional rate of interest of 6-25%. The repayment of loan started w.e.f.
01.01.2019 @ ¥ 10,000 per month. SBI rate of interest as on 01.04.2018 was
9-25%.

(xii) During the year savings made by Mr. X were :
(a) LIC Premium :
For Self ¥ 10,500 (sum assured ¥ 2,00,000)
For Spouse ¥ 12,000 (sum assured ¥ 1,00,000)
For Mother ¥ 8,000 (sum assured ¥ 1,00,000)

For Major Son ¥ 8,000 (not dependent on him but is suffering from
disability) (sum assured ¥ 50,000)

All life insurance policies were taken in the previous year 2014-15.
(b) PPF Deposits : T 5000
(c) Tuition Fees of Second Son studying in a College ¥ 6,000
(d) Repayment of Housing Loan from LIC'(Principal Portion) — ¥ 36,000
Calculate :
(i) Salary Income
(i1) Qualifying amount for deduction U/S 80 C. 20
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3.(b)

3.(c)

4.(a)

4.(b)

4.(c)

5.(a)

S.(b)

Soied | AT T FHAS § 7 U WHIETCA FSE WUIEA % HTavash ded #4978 § 7
saehl aREETT T § 7

What do you understand by budgeting ? What are the essentials of effective
budgeting system ? What are its limitations ? 15

frn anenfiq aw fufo (gaid.) worell w2 @ 7 98 SOwEE ard
o soret & form R firmr ® 2 fomm smenfia ara frafoor yomeft =61 o @A
& WO A wE A |

What is Activity Based Costing (ABC) system ? How is it different from Traditional
Costing System ? Explain the Steps to implement ABC system. 15

T BE H UF AR AEEEA B WE ST | g g b et Yty

(Be oA #9g) iR aifafea geafafy (Rew A Aug) & o= fased
| T G AGIHT & AS-6 % IER fordia faat 4 a9 @ ger frg oW
?

Explain the nature and need for depreciation. Distinguish between straight line
method and diminishing balance method of depreciation. What disclosures are

required to be made in financial statements as per AS-6 on depreciation accounting ?
20

STEIRE dgied T ¢ ? e faraan #§ qEiest iR gaenEi @ we
&ifora |

What is Responsibility Accounting ? Explain the prerequisites and the problems in
its implementation. o 15

woraTey fo s el & fhe wer firm dar @ 2 fe aRfERE § S
WER Forlt Pl & Ao W SARW % HeRdl © 7

Explain how investigation is different from that of Auditing. Under what

circumstances the Central Government can order for investigation of a company ?
15

gUs ‘B’ SECTION ‘B’
Frafofaa vt # & v o1 S T 150 w=3 # S

Answer the following in about 150 words each :

o stfterartaer fraw fofa w1 Sfua Sew @ Wi @, fbeg g et B
TG SAfaHiRr % guE Tkt Ael ® || gHter i |
“Maximization of profits is regarded as the propei objective of investment decision,
but it is not as exclusive as maximizing shareholders’ wealth” — Comment. 10
ol T I 9= WY A A AT 1 SIaR ek =ifee | s A wend
T ? @ uEr @y AR ?

“A firm should follow a policy of very high dividend pay-out”. Do you agree ?
Why or why not ? 10
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5.(c)

5.(d)

5.(e)

6.(2)

et -Shtug favewm # Sl famg @t e A |

Explain ‘Indifference Point’ (IP) in EBIT-EPS analysis. 10
wiafi IR AR fidas SR & e fadea fifm |
Distinguish between Primary Market and Secondary Market. 10

“gerlt Fiftr 3 wem & wigfrt § Ry oy FRw @ sew T @ 17
=W FUA e i |

“Investing in securities through Mutual Fund is a better choice than direct

investment” — examine the statement. 10
U FEE @ WEwT ana e frefafa frexor wem awan € -
o) AT G AR W z@EE - ¥ 70
U ¥H Sl dnd Gfd T -~ ¥ 35
I AR i g ~ T 55
gl A0 Wid s - ¥ 160
o wfa s - ¥ 25
foopg e wia s@8 - T 185
HAfaRes SAHRT : '

(i)ﬁmaﬂﬂﬂﬂ@m%ﬁqeﬁﬁw%l

(if) #Ter Sitgae e HEAT WfsEA H el € |

(ifi) TR A e T Ae F Ty wiE A e ® |

(iv) smafcferafall gRT U AE 1 SR EiF € |

(v) SGRI I q WIE F IUR Eigd ¢ |

(vi) Al & e | 11 were @ foera gan € |

(vii) SaRedl & A F U A Al Bl € |
(viii) TH-=19TE SeAGA AhG ST ST € |

(ix) T 3R FF F A% 2,50,000 T T M H AL R |

ST FedTeA A 1,04,000 ST At Frmelierr & &R @ fam-amer @A & fog
saEe e Gt Uiy g U fEwr JR wA ® | 99 A HH ged € TR
e A IR UF GEW BT & Fe@l ¢ | woigd AR SR st s wER guihid gid
¥ 3Rk 52 e 1 9§ F GEG @ | R IR HHTE UF A8 F GO ® |
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6.(b)

A proforma cost sheet of a company provides the following particulars :

Raw Material Cost per Unit - T 70
Direct Labour Cost per Unit - ¥ 35
Overhead Cost per Unit - & 33
Total Cost per Unit - T 160
Profit per Unit = ;T 25
Selling price per Unit - ¥ 185

Additional Information :

(i) Raw Materials are in stock on an average for 1 month.
(i1) Materials are in process on an average for % month.
(i11) Finished goods are in stock on an average for 1 month.
(iv) Credit allowed by Suppliers is 1 month.

(v) Credit allowed to Debtors is 2 months.

(vi) Lag in payment of wages is 15 weeks.
(vii) Lag in payment of Overhead expenses is 1 month.
(viii) %th of the output is sold against cash.

(ix) Cash in hand and at bank is expected to be ¥ 2,50,000.
You are required to prepare a statement showing the working capital needed to
finance a level of activity of 1,04,000 Units of production. You may assume that
production is carried on evenly throughout the year, wages and overheads accrue
similarly and a time period of 52 weeks is equivalent tp a year and 4 weeks is

equivalent to a month. 20
Frafafes gamelt @, waw bt @ @ = g, W W oA wRaww
fsparepetal & Uhg WaT8 & IEeA Hifog
(w31, 2019 a¥ i waR q)

SN AA R AT — T 1,00,000
fatsran - ¥ 1,50,000
ERG| - ¥ 12,000
s wifiEsm - ¥ 3,000
T - ¥ 10,000
sifafeer Q?FH({U

faaTm 01.04.2018 01.04.2019
AL Z 18,000 3 25,000
g fere ¥ 7,000 T 4,000
o eR ¥ 8,000 ¥ 6,000
[TAET Z 20,000 T 25,000
Agd aaH T 2,000 ¥ 3,000
gdea ST Wt ¥ 1,000 T 1,000
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From the following information of a firm, calculate the cashflow from operating
activities by applying Direct Method :

(For the year ended March 31, 2019)

Cost of Goods sold -

Sales -

Salaries -

Insurance Premium  —

Depreciation —

Additional Information :
Particulars

Debtors

Bills Receivables

Creditors

Stock

Salaries Outstanding

Prepaid Insurance Premium

¥ 1,00,000

¥ 1,50,000

T 12,000

T 3,000

T 10,000
01.04.2018 01.04.2019
T 18,000 T 25,000
T 7,000 T 4,000
T 8,000 T 6,000
T 20,000 T 25,000
T 2,000 F 3,000
T 1,000 F 1,000 15

6.(c) ot wa ffaw & defta fraa s Surm @ we Al |

Illustrate the Net Income Approach relating to capital structure decision making.

15

7.(2) ey fofiee st faw demmEl @ @ @ F T 10 @/ @ sfais fam
ST dTedl & | F & uE fFew & e eg whienRa s & €9 7 2,10,000 ¥
Iuersy ¢ | stfafes =R frafafaa € -

(i) o1 — sfxadt fazo

(i) o1 i dFE ¥ 1,80,000 T

(i) =0T R @R ¥ 1,80,000 & &G

(iv) 33 wfa PR
(v) ST A

(vi). srwier | srafera foem &
(vii) FEAM SR G fd PR

(viii) T A ®

SDF-U-COMA
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—  30% - 70%

—  10% (IR ¥ 9gd)
—  16% (X & Ugd)
— ¥4

—  50% (3mx =)

—  10%

— T 44

—  50%



7.(b)

CIRED] ﬁFTFﬁﬁEH Gl % -
(a) afafcs fa sem g wfew faeafor |
(b) srfafics ot i wR-uvaTq sftad ama @ fefor |
(c) widenfca sma wa fFd Gt A ama @ ek |
(d) sfafes forg & sx-uveq www wRifea siaa ama & 9o |
Akash Limited wishes to raise additional finance of ¥ 10 lakh for meeting its

investment plans. It has ¥ 2,10,000 in the form of retained earnings available for
investment purposes. The following are the further details :

(1) Debt — Equity Mix - 30% - 70%
(11) Cost of Debt up to ¥ 1,80,000 — 10% (before tax)
(ii1) Cost of Debt beyond ¥ 1,80,000 — 16% (before tax)
(iv) Eamnings per share — T4
(v) Dividend pay out —  50% of earnings
(vi) Expected growth rate in dividlend — 10%

(vi1) Current market price per share - T 44

(viii) Tax Rate - 50%

You are required to :
(a) Determine the pattern for raising the additional finance.
(b) Determine the post-tax average cost of additional debts.
(c) Determine the cost of retained earnings and cost of equity.

(d) Compute the overall weighted average after tax cost of additional finance.

20
Freafoafan SRt & et 31 w1 2019 &1 ‘T fafies o gadad IR wRAT @ -
EIGEE ARG ~ 1601 '
WA AT ~ 110:1.
AT 3ATacd — 6T
el AN AT - 20%
w0 e Aty -~ 192 wEgH
fer afwafa smad ~ 1257
arfafar va snfiem & o ¥ I - 025:1
SHHEEE B A g A d FgI — 05:1
fer afmufa &1 g 7= ¥ agua - 120:1
ay & R fasa ~ 7,50,000 ¥
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7-@

8.(a)

8.(b)

8.(c)

From the following information, you are required to prepare the balance sheet of
A Ltd as on March 31, 2019 :

Current Ratio - 160 :1

Liquid Ratio - 110:1

Inventory Turmover — 6 times

Gross Profit Ratio - 20%

Debt Collection Period — 192 months

Fixed Assets Turnover — 125 times

Reserves and Surplus to Capital -  0-25:1

Long Term Loan to Net worth - 05:1

Fixed Assets to Net worth - 120:1

Sales for the year - ¥ 7,50,000 . 15

drodum w1 e ? ?Iﬁ.q.q'}.tr_rr. GHIGRU & 9¢h HI-1 & 7 YAF g A 7Y
THATU | 98 B US SiRgn W Ry w smavas wfawe & SR A ofn adrar § ?

What is CAPM ? What are the components of CAPM equation ? Explain the
meaning of each component. What does it tell us about the required return on a risky
investment ? ' 15

ﬁﬁzw&mww%?w&@ﬁﬁmw@aaﬁﬁmmﬁﬁz
et ¥ forg seme it 9 At faftm qeen @ e Al )

What do you mean by corporate restructuring ? Outiine its objectives. Explain the
various techniques used for corporate restructuring. 20

‘gt AR T R ? gEeh aAfeE ok weEEl W) ==l i |

What is ‘Money Market’ ? Discuss its features and functions. 15

it 9@ & faftm yert w ==t i |

Discuss the various functions of a commercial bank. 15
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